



Some modifications of Szász-type operators including U-Charlier-Poisson polynomials

Gürhan İçöz^{a,*}, Nisanur Sezer^b

^aGazi University, Faculty of Science, Department of Mathematics, Ankara, Türkiye

^bGazi University, Graduate School of Natural and Applied Sciences, Department of Mathematics, Ankara, Türkiye

Abstract. In this paper, we investigate a generalized Szász-type positive linear operator recently introduced in the literature and analyze its fundamental properties through the study of moments. In particular, we construct several important modifications, namely the Stancu, Kantorovich and Stancu–Kantorovich variants, and derive explicit expressions for their first- and second-order moments. These moment identities provide the basis for establishing various approximation properties of the operators. More specifically, they are instrumental in proving Korovkin-type theorems, estimating rates of convergence via the modulus of continuity and Peetre’s K-functional, and examining approximation behavior in Lipschitz spaces. Furthermore, we employ these identities to obtain Voronovskaya-type asymptotic results. The findings presented here contribute to a deeper understanding of the approximation capabilities of generalized Szász-type operators and their modifications, thereby enriching the theory of positive linear operators.

1. Introduction

Positive linear operators have long been regarded as one of the most classical and effective tools in approximation theory. Since the pioneering result of Weierstrass and the construction of Bernstein polynomials [2], numerous modifications and generalizations have been proposed, among which the operators of Kantorovich [12, 13, 15], Stancu [10, 17], Durrmeyer [4, 8], and Szász [19] have played a fundamental role in shaping the field. In recent years, the introduction of generalized forms with additional parameters has attracted increasing attention [7, 9], as these formulations offer greater flexibility and allow for more refined approximation processes. Motivated by this line of research, the present work is devoted to the study of a generalized Szász-type operator recently introduced in [1, 18, 22]. We first establish its moment identities and then extend the construction to the Stancu, Kantorovich and Stancu–Kantorovich modifications. Building upon these results, we further derive approximation properties including Korovkin-type theorems, estimates of the rate of convergence with respect to the modulus of continuity and Peetre’s K-functional, approximation in Lipschitz spaces, as well as Voronovskaya-type asymptotic formulas.

The convergence behavior of the Szász operators, as first introduced in [19], is characterized by:

2020 *Mathematics Subject Classification.* Primary 41A10; Secondary 41A25, 41A36.

Keywords. Szász-type operators, Stancu modification, Kantorovich modification, Durrmeyer modification.

Received: 24 September 2025; Revised: 14 November 2025; Accepted: 17 November 2025

Communicated by Dragan S. Djordjević

* Corresponding author: Gürhan İçöz

Email addresses: gurhanicoz@gazi.edu.tr (Gürhan İçöz), 25830501025@gazi.edu.tr (Nisanur Sezer)

ORCID iDs: <https://orcid.org/0000-0003-1204-9517> (Gürhan İçöz), <https://orcid.org/0009-0007-6175-8877> (Nisanur Sezer)

$$S_n(f; x) = e^{-nx} \sum_{k=0}^{\infty} \frac{(nx)^k}{k!} f\left(\frac{k}{n}\right), \quad (1)$$

where $f \in C[0, \infty)$, $n \in \mathbb{N}$, and $x \in [0, \infty)$.

Generalizations of Szász operators employing polynomials, particularly those defined via generating functions, have attracted significant interest in recent years due to their enhanced flexibility and applications in approximation theory [5]. Among these, a notable generalization can be obtained through the Appell polynomials introduced in [11]:

$$P_n(f; x) = \frac{e^{-nx}}{g(1)} \sum_{k=0}^{\infty} p_k(nx) f\left(\frac{k}{n}\right), \quad (2)$$

where $p_k(x) \geq 0$ for $x \in [0, \infty)$ and $g(1) \neq 0$.

Subsequently, Varma et al. employed Sheffer polynomials, which are defined by the following generating function:

$$R(z)S(xz) = \sum_{k=0}^{\infty} p_k(x) \frac{z^k}{k!}, \quad (3)$$

where R and S are analytic functions. Using these functions, the operators incorporating the Brenke-type polynomials are then defined as follows [21]:

$$L_n(f; x) = \frac{1}{R(1)S(nx)} \sum_{k=0}^{\infty} p_k(nx) f\left(\frac{k}{n}\right), \quad (4)$$

where $x \geq 0$ and $n \in \mathbb{N}$.

On the other hand, Özmen and Erkuş [16] considered a special case of (3), employing the classical Charlier–Poisson polynomials, and defined the corresponding operators as follows:

$$e^z \left(1 - \frac{z}{a}\right)^u = \sum_{k=0}^{\infty} C_k(a, u) \frac{z^k}{k!}, \quad a \neq 0. \quad (5)$$

Subsequently, Varma and Taşdelen [20] proposed linear positive operators based on the Charlier–Poisson polynomials, as given in (4):

$$L_n(f; x, a) = \frac{1}{e} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{C_k(a, -(a-1)nx)}{k!} f\left(\frac{k}{n}\right), \quad (6)$$

where $a > 1$ and $x \geq 0$.

It is now possible to express the Charlier–Poisson polynomials [5], as defined in (5), in the following form:

$$e^{-\alpha w} (1 + w)^x = \sum_{n=0}^{\infty} (-\alpha)^n C_n(x, \alpha) \frac{w^n}{n!}, \quad (7)$$

with $\alpha \neq 0$. Note that by setting $\alpha = a$, $w = -\frac{z}{a}$, and $x = u$ in (7), one recovers (5).

Subsequently, Clemente et al. [6] generalized this operator by introducing a new family of parametric U–Charlier–Poisson-type polynomials. This operator, denoted by $G_n^{[2+]}(x; \alpha, \beta, \lambda)$, is defined as follows:

$$J_n(f; x) = \frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(-(a-1)nx; a, \beta, \lambda)}{k!(-a)^k} f\left(\frac{k}{n}\right), \quad (8)$$

where $f \in C[0, \infty)$, $n, J \in \mathbb{N}$, $\beta, \lambda \in \mathbb{R}$, $\alpha \neq 0$, $\beta e \neq -A_j(\lambda, \alpha)$, $x \in [0, \infty)$, $a > 1$,

$$A_j(\lambda, \alpha) = \lambda^n (-\alpha)^J \prod_{m=2}^{2+J} \frac{2^m - 1}{2^m - 2},$$

$$\sum_{n=0}^{\infty} \frac{G_n^{[2+J]}(x; \alpha, \beta, \lambda)}{(-a)^n} \frac{z^n}{n!} = (\beta e^z + A_j(\lambda, \alpha)) \left(1 - \frac{z}{a}\right)^x.$$

Note that by setting $\beta = 1$, $\lambda = 0$, and $z = x$ in (8), one recovers the classical Charlier–Poisson polynomials given in (6). Consequently, the generating function of $G_n^{[2+J]}(x; \alpha, \beta, \lambda)$ encompasses, as special cases, the generating function of the Charlier–Poisson polynomials, i.e., $C_n(x, \alpha) = G_n^{[2+J]}(x; \alpha, 1, 0)$.

By employing generating function identities [6], the first-order moments of the operator can be obtained as follows:

$$J_n(1; x) = 1, \quad (9)$$

$$J_n(t; x) = x + \frac{\beta e}{n(\beta e + A_j(\lambda, \alpha))}, \quad (10)$$

$$J_n(t^2; x) = x^2 + x \left(\frac{1}{n(a-1)} + \frac{2\beta e}{n(\beta e + A_j(\lambda, \alpha))} + \frac{1}{n} \right) + \frac{2\beta e}{n^2(\beta e + A_j(\lambda, \alpha))}. \quad (11)$$

In this paper, we generalize the operator in (8) to the Kantorovich, Stancu and Stancu–Kantorovich types. To begin with, we introduce the Stancu-type generalization of the operator in (8) as follows:

$$J_n^*(f; x) = \frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+J]}(-(a-1)nx; a, \beta, \lambda)}{k!(-a)^k} f\left(\frac{k+\zeta}{n+\mu}\right),$$

for $f \in C[0, \infty)$, $n, J \in \mathbb{N}$, $\beta, \lambda \in \mathbb{R}$, $\alpha \neq 0$, $\beta e \neq -A_j(\lambda, \alpha)$, $x \in [0, \infty)$, $a > 1$, and $\zeta, \mu \geq 0$.

Next, we define the Kantorovich-type generalization of the operators in (8) as follows:

$$J_n^{**}(f; x) = \frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+J]}(-(a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} f(t) dt,$$

where $f \in C[0, \infty)$, $n, J \in \mathbb{N}$, $\beta, \lambda \in \mathbb{R}$, $\alpha \neq 0$, $\beta e \neq -A_j(\lambda, \alpha)$, $x \in [0, \infty)$, $a > 1$.

Furthermore, we introduce the Stancu–Kantorovich-type extension of the operators in (8) as follows:

$$J_n^{***}(f; x) = \frac{n+\mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+J]}(-(a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k+\zeta}{n+\mu}}^{\frac{k+\zeta+1}{n+\mu}} f(t) dt,$$

for $f \in C[0, \infty)$, $n, J \in \mathbb{N}$, $\beta, \lambda \in \mathbb{R}$, $\alpha \neq 0$, $\beta e \neq -A_j(\lambda, \alpha)$, $x \in [0, \infty)$, $a > 1$, and $\zeta, \mu \geq 0$.

2. Approximation Properties

We have derived the moments of the generalized Szász-type operator along with its Stancu, Kantorovich and Stancu–Kantorovich modifications. These moment identities form the basis for establishing Korovkin-type theorems, estimating rates of convergence, and obtaining Voronovskaya-type results.

Lemma 2.1. For $n \in \mathbb{N}$ and $x \geq 0$, the operators satisfy the equalities given in (9)–(11), which are obtained with the aid of the following identities [6]:

$$\sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} = \left(\beta e + A_j(\lambda, \alpha) \right) \left(1 - \frac{1}{a} \right)^{-(a-1)nx}, \quad (12)$$

$$\sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} = \left[\beta e + nx \left(\beta e + A_j(\lambda, \alpha) \right) \right] \left(1 - \frac{1}{a} \right)^{-(a-1)nx}, \quad (13)$$

$$\sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} = \left[n^2 (x^2 + x\phi) \left(\beta e + A_j(\lambda, \alpha) \right) + 2\beta e \right] \left(1 - \frac{1}{a} \right)^{-(a-1)nx}, \quad (14)$$

where

$$\Phi = \frac{1}{n(a-1)} + \frac{2\beta e}{n(\beta e + A_j(\lambda, \alpha))} + \frac{1}{n}.$$

The foregoing equalities imply the following result:

$$J_n(1; x) = 1,$$

$$J_n(t; x) = x + \frac{\beta e}{n(\beta e + A_j(\lambda, \alpha))},$$

$$J_n(t^2; x) = x^2 + x \left(\frac{1}{n(a-1)} + \frac{2\beta e}{n(\beta e + A_j(\lambda, \alpha))} + \frac{1}{n} \right) + \frac{2\beta e}{n^2(\beta e + A_j(\lambda, \alpha))}.$$

Lemma 2.2. For $n \in \mathbb{N}$, $x \geq 0$, $\beta e \neq -A_j(\lambda, \alpha)$, $a > 1$, and $\zeta, \mu \geq 0$, the operators can be expressed in the following form:

$$J_n^*(1; x) = 1, \quad (15)$$

$$J_n^*(t; x) = \frac{n}{n+\mu}x + \frac{\zeta}{n+\mu} + \frac{\beta e}{(n+\mu)(\beta e + A_j(\lambda, \alpha))}, \quad (16)$$

$$J_n^*(t^2; x) = \frac{n^2}{(n+\mu)^2}x^2 + \frac{n}{(n+\mu)^2} \left(\frac{a}{a-1} + 2\zeta + \frac{2\beta e}{\beta e + A_j(\lambda, \alpha)} \right) x + \frac{2\beta e(\zeta+1)}{(n+\mu)^2(\beta e + A_j(\lambda, \alpha))} + \frac{\zeta^2}{(n+\mu)^2}. \quad (17)$$

Lemma 2.3. For $n \in \mathbb{N}$, $x \geq 0$, $a > 1$, and $\beta e \neq -A_j(\lambda, \alpha)$, the operators are given as follows:

$$J_n^{**}(1; x) = 1, \quad (18)$$

$$J_n^{**}(t; x) = x + \frac{\beta e}{n(\beta e + A_j(\lambda, \alpha))} + \frac{1}{2n}, \quad (19)$$

$$J_n^{**}(t^2; x) = x^2 + \frac{1}{n} \left(\frac{2a-1}{a-1} + \frac{2\beta e}{\beta e + A_j(\lambda, \alpha)} \right) x + \frac{3\beta e}{n^2(\beta e + A_j(\lambda, \alpha))} + \frac{1}{3n^2}. \quad (20)$$

Lemma 2.4. For $n \in \mathbb{N}$, $x \geq 0$, $\beta e \neq -A_j(\lambda, \alpha)$, $a > 1$, and $\zeta, \mu \geq 0$, the operators are characterized by the following expressions:

$$J_n^{***}(1; x) = 1, \quad (21)$$

$$J_n^{***}(t; x) = \frac{n}{n+\mu}x + \frac{\beta e}{(n+\mu)(\beta e + A_j(\lambda, \alpha))} + \frac{2\zeta + 1}{2(n+\mu)}, \quad (22)$$

$$J_n^{***}(t^2; x) = \frac{n^2}{(n+\mu)^2}x^2 + \frac{n}{(n+\mu)^2} \left(\frac{2a-1}{a-1} + 2\zeta + \frac{2\beta e}{\beta e + A_j(\lambda, \alpha)} \right) x + \frac{(2\zeta + 3)\beta e}{(n+\mu)^2(\beta e + A_j(\lambda, \alpha))} + \frac{\zeta^2 + \zeta + \frac{1}{3}}{(n+\mu)^2}. \quad (23)$$

Theorem 2.5. Let $S := \{f : [0, \infty) \rightarrow \mathbb{R} : |f(x)| \leq Me^{Ax}\}$, where $A \in \mathbb{R}$. If $f \in C[0, \infty) \cap S$, then

$$\lim_{n \rightarrow \infty} J_n(f; x) = f,$$

$$\lim_{n \rightarrow \infty} J_n^*(f; x) = f,$$

$$\lim_{n \rightarrow \infty} J_n^{**}(f; x) = f,$$

$$\lim_{n \rightarrow \infty} J_n^{***}(f; x) = f.$$

It follows that the above operators converge uniformly on each compact subset of $[0, \infty)$ [14].

3. Rate of Convergence

Let $F \in C[0, \infty)$. For $\delta > 0$, the modulus of continuity of F , denoted by $\omega(F; \delta)$ is defined as

$$\omega(F; \delta) := \sup_{x, y \in [0, \infty)} |F(x) - F(y)|,$$

where $|x - y| < \delta$.

Moreover, it is well known that,

$$|F(x) - F(y)| \leq \omega(F; \delta) \left(\frac{|x - y|}{\delta} + 1 \right). \quad (24)$$

In addition, if f is uniformly continuous, it satisfies

$$|F(x) - F(y)| \leq \omega(F; \delta). \quad (25)$$

Define the set S as

$$S := \{F : [0, \infty) \rightarrow \mathbb{R} : |F(x)| \leq Me^{Ax}, A \in \mathbb{R}, M \in \mathbb{R}^+\}.$$

The next propositions collect several important properties of the operators discussed above.

Theorem 3.1. Let $f \in \widetilde{C}[0, \infty) \cap S$. The operators J_n^* obey the inequality:

$$|J_n^*(f; x) - f(x)| \leq 2\omega(f; \Upsilon_n^*(x; \alpha, \beta, \lambda)),$$

with

$$\Upsilon_n^*(x; \alpha, \beta, \lambda) = \frac{1}{n+\mu} \left[\mu^2 x^2 + \left(\frac{na}{a-1} - 2\zeta\mu - \frac{2\beta e\mu}{\beta e + A_j(\lambda, \alpha)} \right) x + \frac{2\beta e(\zeta + 1)}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 \right]^{1/2}$$

where $\widetilde{C}[0, \infty)$ is the space of uniformly continuous function on $[0, \infty)$.

Proof. By virtue of the definition of the new operators J_n^* and Lemma 2.2, we obtain

$$\begin{aligned} |J_n^*(f; x) - f(x)| &= \left| \frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left(f\left(\frac{k+\zeta}{n+\mu}\right) - f(x)\right) \right| \\ &\leq \frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left|f\left(\frac{k+\zeta}{n+\mu}\right) - f(x)\right|. \end{aligned}$$

This way of (24) follows:

$$\begin{aligned} |J_n^*(f; x) - f(x)| &\leq \frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left(1 + \frac{1}{\delta} \left|\frac{k+\zeta}{n+\mu} - x\right|\right) \omega(f; \delta) \\ &\leq \left\{1 + \frac{1}{\delta} \frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left|\frac{k+\zeta}{n+\mu} - x\right|\right\} \omega(f; \delta). \end{aligned}$$

Alternatively, by applying the Cauchy–Schwarz inequality, we obtain

$$\begin{aligned} &\frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left|\frac{k+\zeta}{n+\mu} - x\right| \\ &\leq \left[\frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \right]^{1/2} \\ &\quad \times \left[\frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left(\frac{k+\zeta}{n+\mu} - x\right)^2 \right]^{1/2} \\ &= \left[\frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left(\frac{k+\zeta}{n+\mu} - x\right)^2 \right]^{1/2} \\ &= \sqrt{J_n^*((t-x)^2; x)} \\ &= \frac{1}{n+\mu} \left[\mu^2 x^2 + \left(\frac{na}{a-1} - 2\zeta\mu - \frac{2\beta e\mu}{\beta e + A_j(\lambda, \alpha)}\right)x + \frac{2\beta e(\zeta+1)}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 \right]^{1/2} \\ &= \sqrt{\Upsilon_n^*(x; \alpha, \beta, \lambda)}. \end{aligned}$$

Consequently, the above expression yields

$$|J_n^*(f; x) - f(x)| \leq \left\{1 + \frac{1}{\delta} \sqrt{\Upsilon_n^*(x; \alpha, \beta, \lambda)}\right\} \omega(f; \delta).$$

Setting $\delta = \sqrt{\Upsilon_n^*(x; \alpha, \beta, \lambda)}$, leads to the desired conclusion, which completes the proof of Theorem 3.1. $\square$

Theorem 3.2. Let $f \in \widetilde{C}[0, \infty) \cap S$. It follows that the operators J_n^{**} satisfy the inequality given below:

$$|J_n^{**}(f; x) - f(x)| \leq 2\omega(f; \Upsilon_n^\diamond(x; \alpha, \beta, \lambda)),$$

with

$$\Upsilon_n^\diamond(x; \alpha, \beta, \lambda) = \frac{1}{n} \left[\frac{na}{a-1}x + \frac{3\beta e}{\beta e + A_j(\lambda, \alpha)} + \frac{1}{3} \right]^{1/2}$$

where $\widetilde{C}[0, \infty)$ is the space of uniformly continuous function on $[0, \infty)$.

Proof. Combining the definition of the new operators J_n^{**} with Lemma 2.3, we obtain

$$\begin{aligned} |J_n^{**}(f; x) - f(x)| &= \left| \frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} (f(t) - f(x)) dt \right| \\ &\leq \frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} |f(t) - f(x)| dt. \end{aligned}$$

This way of (24) follows:

$$\begin{aligned} |J_n^{**}(f; x) - f(x)| &\leq \frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} \left(1 + \frac{1}{\delta} |t - x|\right) \omega(f; \delta) dt \\ &\leq \left\{ 1 + \frac{1}{\delta} \frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} |t - x| dt \right\} \omega(f; \delta). \end{aligned}$$

By the Cauchy–Schwarz inequality, it follows that

$$\begin{aligned} &\sum_{k=0}^{\infty} \frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} |t - x| dt \\ &\leq \left[\frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \right]^{1/2} \\ &\quad \times \left[\frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} (t - x)^2 dt \right]^{1/2} \\ &= \left[\frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} (t - x)^2 dt \right]^{1/2} \\ &= \sqrt{J_n^{**}((t - x)^2; x)} \\ &= \frac{1}{n} \left[\frac{na}{a-1} x + \frac{3\beta e}{\beta e + A_j(\lambda, \alpha)} + \frac{1}{3} \right]^{1/2} \\ &= \sqrt{\Upsilon_n^{\diamond}(x; \alpha, \beta, \lambda)}. \end{aligned}$$

It follows from the above expression that

$$|J_n^{**}(f; x) - f(x)| \leq \left\{ 1 + \frac{1}{\delta} \sqrt{\Upsilon_n^{\diamond}(x; \alpha, \beta, \lambda)} \right\} \omega(f; \delta).$$

By taking $\delta = \sqrt{\Upsilon_n^{\diamond}(x; \alpha, \beta, \lambda)}$, we obtain the desired result, thereby completing the proof of Theorem 3.2. $\square$

Theorem 3.3. Let $f \in \widetilde{C}[0, \infty) \cap S$. The operators J_n^{***} then satisfy the following inequality:

$$|J_n^{***}(f; x) - f(x)| \leq 2\omega(f; \Upsilon_n^\bullet(x; \alpha, \beta, \lambda)),$$

with

$$\Upsilon_n^\bullet(x; \alpha, \beta, \lambda) = \frac{1}{n + \mu} \left[\mu^2 x^2 + \left(\frac{n\alpha}{a-1} - (2\zeta + 1)\mu - \frac{2\beta e \mu}{\beta e + A_j(\lambda, \alpha)} \right) x + \frac{(2\zeta + 3)\beta e}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 + \zeta + \frac{1}{3} \right]^{1/2}$$

where $\widetilde{C}[0, \infty)$ is the space of uniformly continuous function on $[0, \infty)$.

Proof. Using the definition of J_n^{***} and Lemma 2.4, one finds that

$$\begin{aligned} |J_n^{***}(f; x) - f(x)| &= \left| \frac{n + \mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k+\zeta}{n+\mu}}^{\frac{k+\zeta+1}{n+\mu}} (f(t) - f(x)) dt \right| \\ &\leq \frac{n + \mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k+\zeta}{n+\mu}}^{\frac{k+\zeta+1}{n+\mu}} |f(t) - f(x)| dt. \end{aligned}$$

By using (24), it follows

$$\begin{aligned} |J_n^{***}(f; x) - f(x)| &\leq \frac{n + \mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k+\zeta}{n+\mu}}^{\frac{k+\zeta+1}{n+\mu}} \left(1 + \frac{1}{\delta} |t - x|\right) \omega(f; \delta) dt \\ &\leq \left\{ 1 + \frac{1}{\delta} \frac{n + \mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k+\zeta}{n+\mu}}^{\frac{k+\zeta+1}{n+\mu}} |t - x| dt \right\} \omega(f; \delta). \end{aligned}$$

On the other hand, the Cauchy–Schwarz inequality implies that

$$\begin{aligned} &\sum_{k=0}^{\infty} \frac{n + \mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k+\zeta}{n+\mu}}^{\frac{k+\zeta+1}{n+\mu}} |t - x| dt \\ &\leq \left[\frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \right]^{1/2} \\ &\quad \times \left[\frac{n + \mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k+\zeta}{n+\mu}}^{\frac{k+\zeta+1}{n+\mu}} (t - x)^2 dt \right]^{1/2} \\ &= \left[\frac{n + \mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k+\zeta}{n+\mu}}^{\frac{k+\zeta+1}{n+\mu}} (t - x)^2 dt \right]^{1/2} \end{aligned}$$

$$\begin{aligned}
&= \sqrt{J_n^{***}((t-x)^2; x)} \\
&= \frac{1}{n+\mu} \left[\mu^2 x^2 + \left(\frac{na}{a-1} - (2\zeta+1)\mu - \frac{2\beta e \mu}{\beta e + A_j(\lambda, \alpha)} \right) x + \frac{(2\zeta+3)\beta e}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 + \zeta + \frac{1}{3} \right]^{1/2} \\
&= \sqrt{\Upsilon_n^\bullet(x; \alpha, \beta, \lambda)}.
\end{aligned}$$

Thus, from the above expression, we obtain

$$|J_n^{***}(f; x) - f(x)| \leq \left\{ 1 + \frac{1}{\delta} \sqrt{\Upsilon_n^\bullet(x; \alpha, \beta, \lambda)} \right\} \omega(f; \delta).$$

Letting $\delta = \sqrt{\Upsilon_n^\bullet(x; \alpha, \beta, \lambda)}$, we arrive at the asserted result, thereby completing the proof of Theorem 3.3. $\square$

We proceed by introducing the Lipschitz class of order θ , denoted $Lip_M(\theta)$ ($0 < \theta \leq 1$, $M > 0$), which is defined as:

$$Lip_M(\theta) = \{h \in C_B[0, \infty) : |h(t) - h(x)| \leq M|t - x|^\theta, t, x \in [0, \infty)\}. \quad (26)$$

Based on this expression, we obtain the following result, providing an explicit bound for the approximation error of the operators applied to the function $h \in Lip_M(\theta)$.

Theorem 3.4. Let $f \in Lip_M(\theta)$, then for $x \geq 0$

$$|J_n^*(f; x) - f(x)| \leq M(\Upsilon_n^*(x; \alpha, \beta, \lambda))^\theta$$

where

$$\Upsilon_n^*(x; \alpha, \beta, \lambda) = \frac{1}{n+\mu} \left[\mu^2 x^2 + \left(\frac{na}{a-1} - 2\zeta\mu - \frac{2\beta e \mu}{\beta e + A_j(\lambda, \alpha)} \right) x + \frac{2\beta e(\zeta+1)}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 \right]^{1/2}.$$

Proof. Applying the operator J_n^* , we obtain

$$\begin{aligned}
|J_n^*(f; x) - f(x)| &= \left| \frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(-(a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left(f\left(\frac{k+\zeta}{n+\mu}\right) - f(x)\right) \right| \\
&\leq \frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(-(a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left|f\left(\frac{k+\zeta}{n+\mu}\right) - f(x)\right|.
\end{aligned}$$

By using (26), it follows

$$|J_n^*(f; x) - f(x)| \leq \frac{M}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(-(a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left|\frac{k+\zeta}{n+\mu} - x\right|^\theta.$$

Alternatively, by applying the Hölder inequality, we obtain

$$\begin{aligned}
&\frac{M}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(-(a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left|\frac{k+\zeta}{n+\mu} - x\right|^\theta \\
&\leq M \left[\frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(-(a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \right]^{(2-\theta)/2}
\end{aligned}$$

$$\begin{aligned}
& \times \left[\frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left(\frac{k+\zeta}{n+\mu} - x\right)^2 \right]^{\theta/2} \\
& = M \left[\frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \left(\frac{k+\zeta}{n+\mu} - x\right)^2 \right]^{\theta/2} \\
& = M \left(J_n^* \left((t-x)^2; x \right) \right)^{\theta/2} \\
& = \frac{M}{n+\mu} \left[\mu^2 x^2 + \left(\frac{na}{a-1} - 2\zeta\mu - \frac{2\beta e\mu}{\beta e + A_j(\lambda, \alpha)} \right) x + \frac{2\beta e(\zeta+1)}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 \right]^{1/2} \\
& = M \left(\Upsilon_n^*(x; \alpha, \beta, \lambda) \right)^{\theta}.
\end{aligned}$$

This completes the proof of Theorem 3.4. $\square$

Theorem 3.5. Let $f \in Lip_M(\theta)$. It follows that the operators J_n^{**} satisfy the inequality given below:

$$|J_n^{**}(f; x) - f(x)| \leq M \left(\Upsilon_n^{\diamond}(x; \alpha, \beta, \lambda) \right)^{\theta}$$

with

$$\Upsilon_n^{\diamond}(x; \alpha, \beta, \lambda) = \frac{1}{n} \left[\frac{na}{a-1} x + \frac{3\beta e}{\beta e + A_j(\lambda, \alpha)} + \frac{1}{3} \right]^{1/2}.$$

Proof. Combining the definition of the new operators J_n^{**} with Lemma 2.3, we obtain

$$\begin{aligned}
|J_n^{**}(f; x) - f(x)| &= \left| \frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} (f(t) - f(x)) dt \right| \\
&\leq \frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} |f(t) - f(x)| dt.
\end{aligned}$$

By using (26), it follows

$$|J_n^{**}(f; x) - f(x)| \leq \frac{Mn}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} |t-x|^{\theta} dt.$$

By the Hölder inequality, it follows that

$$\begin{aligned}
& \sum_{k=0}^{\infty} \frac{Mn}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} |t-x|^{\theta} dt \\
& \leq M \left[\frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \right]^{(2-\theta)/2} \\
& \quad \times \left[\frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} (t-x)^2 dt \right]^{\theta/2}
\end{aligned}$$

$$\begin{aligned}
&= M \left[\frac{n}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} (t-x)^2 dt \right]^{\theta/2} \\
&= M \left(J_n^{**} \left((t-x)^2; x \right) \right)^{\theta/2} \\
&= \frac{M}{n} \left[\frac{na}{a-1} x + \frac{3\beta e}{\beta e + A_j(\lambda, \alpha)} + \frac{1}{3} \right]^{1/2} \\
&= M \left(\Upsilon_n^{\diamond}(x; \alpha, \beta, \lambda) \right)^{\theta}.
\end{aligned}$$

This completes the proof of Theorem 3.5. $\square$

Theorem 3.6. Let $f \in Lip_M(\theta)$. The operators J_n^{***} satisfy the following bound:

$$|J_n^{***}(f; x) - f(x)| \leq M \left(\Upsilon_n^{\star}(x; \alpha, \beta, \lambda) \right)^{\theta}$$

with

$$\Upsilon_n^{\star}(x; \alpha, \beta, \lambda) = \frac{1}{n + \mu} \left[\mu^2 x^2 + \left(\frac{na}{a-1} - (2\zeta + 1)\mu - \frac{2\beta e \mu}{\beta e + A_j(\lambda, \alpha)} \right) x + \frac{(2\zeta + 3)\beta e}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 + \zeta + \frac{1}{3} \right]^{1/2}.$$

Proof. By the definition of J_n^{***} and Lemma 2.4, the following result is established:

$$\begin{aligned}
|J_n^{***}(f; x) - f(x)| &= \left| \frac{n + \mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+\zeta+1}{n+\mu}} (f(t) - f(x)) dt \right| \\
&\leq \frac{n + \mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+\zeta+1}{n+\mu}} |f(t) - f(x)| dt.
\end{aligned}$$

This way of (26) follows:

$$|J_n^{***}(f; x) - f(x)| \leq \frac{M(n + \mu)}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+\zeta+1}{n+\mu}} |t - x|^{\theta} dt.$$

By the Hölder inequality, it follows that

$$\begin{aligned}
&\sum_{k=0}^{\infty} \frac{M(n + \mu)}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+\zeta+1}{n+\mu}} |t - x|^{\theta} dt \\
&\leq M \left[\frac{1}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \right]^{(2-\theta)/2} \\
&\quad \times \left[\frac{n + \mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k}{n}}^{\frac{k+\zeta+1}{n+\mu}} (t-x)^2 dt \right]^{\theta/2}
\end{aligned}$$

$$\begin{aligned}
&= M \left[\frac{n+\mu}{\beta e + A_j(\lambda, \alpha)} \left(1 - \frac{1}{a}\right)^{(a-1)nx} \sum_{k=0}^{\infty} \frac{G_k^{[2+]}(- (a-1)nx; a, \beta, \lambda)}{k!(-a)^k} \int_{\frac{k+\zeta}{n+\mu}}^{\frac{k+\zeta+1}{n+\mu}} (t-x)^2 dt \right]^{\theta/2} \\
&= M \left(J_n^{***}((t-x)^2; x) \right)^{\theta/2} \\
&= \frac{M}{n+\mu} \left[\mu^2 x^2 + \left(\frac{na}{a-1} - (2\zeta+1)\mu - \frac{2\beta e \mu}{\beta e + A_j(\lambda, \alpha)} \right) x + \frac{(2\zeta+3)\beta e}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 + \zeta + \frac{1}{3} \right]^{1/2} \\
&= M \left(\Upsilon_n^{\star}(x; \alpha, \beta, \lambda) \right)^{\theta}.
\end{aligned}$$

This completes the proof of Theorem 3.6. $\square$

Based on [3], the Peetre's K-functional for the space of continuous functions can be expressed as

$$K(\Lambda; \delta) = \inf_{\Theta \in C^2[0, b]} \left\{ \|\Lambda - \Theta\|_{C[0, b]} + \delta \|\Theta\|_{C^2[0, b]} \right\}.$$

We proceed to establish the rate of convergence through Peetre's K-functional.

Theorem 3.7. Let $f \in C[0, \infty)$, then for $x \geq 0$

$$|J_n^*(f; x) - f(x)| \leq 2K(f; \chi_n^*(\alpha, \beta, \lambda; b))$$

where

$$\begin{aligned}
\chi_n^*(\alpha, \beta, \lambda; b) &= \frac{1}{4(n+\mu)^2} \left[\mu^2 b^2 + \left(\frac{na}{a-1} - 2\zeta\mu - \frac{2\beta e \mu}{\beta e + A_j(\lambda, \alpha)} \right) b + \frac{2(\zeta+1)\beta e}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 \right] \\
&\quad + \frac{1}{2(n+\mu)} \left(\mu b + \zeta + \frac{\beta e}{\beta e + A_j(\lambda, \alpha)} \right).
\end{aligned}$$

Proof. Let $g \in C^2[0, \infty)$. Expanding the function in a Taylor series at the point x , we get

$$g(t) = g(x) + (t-x)g'(x) + (t-x)^2 \frac{g''(x)}{2}.$$

By using the operator J_n^* on both sides of the preceding equation, it follows that

$$J_n^*(g; x) = g(x) + g'(x) J_n^*(t-x; x) + \frac{g''(x)}{2} J_n^*((t-x)^2; x).$$

From the triangle inequality,

$$|J_n^*(g; x) - g(x)| \leq |g'(x)| |J_n^*(t-x; x)| + \frac{|g''(x)|}{2} |J_n^*((t-x)^2; x)|.$$

By maximizing both sides of the above inequality over $[0, b]$ and utilizing the first and second moments of the operator J_n^* , we see that

$$\begin{aligned}
\|J_n^*(g; x) - g(x)\|_{C[0, b]} &\leq \frac{1}{n+\mu} \left(\mu b + \zeta + \frac{\beta e}{\beta e + A_j(\lambda, \alpha)} \right) \|g'(x)\|_{C[0, b]} \\
&\quad + \frac{1}{2(n+\mu)^2} \left[\mu^2 b^2 + \left(\frac{na}{a-1} - 2\zeta\mu - \frac{2\beta e \mu}{\beta e + A_j(\lambda, \alpha)} \right) b + \frac{2(\zeta+1)\beta e}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 \right] \|g''(x)\|_{C[0, b]}.
\end{aligned}$$

Using the property of $C^2[0, b]$, we get

$$\begin{aligned} \|J_n^*(g; x) - g(x)\|_{C[0, b]} &\leq \left\{ \frac{1}{n + \mu} \left(\mu b + \zeta + \frac{\beta e}{\beta e + A_j(\lambda, \alpha)} \right) \right. \\ &\quad \left. + \frac{1}{2(n + \mu)^2} \left[\mu^2 b^2 + \left(\frac{na}{a - 1} - 2\zeta\mu - \frac{2\beta\mu e}{\beta e + A_j(\lambda, \alpha)} \right) b + \frac{2(\zeta + 1)\beta e}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 \right] \right\} \|g(x)\|_{C^2[0, b]}. \end{aligned} \quad (27)$$

Using the linearity and positivity of the operator J_n^* , we obtain

$$\begin{aligned} |J_n^*(f; x) - f(x)| &= |J_n^*(f; x) - J_n^*(g; x) + J_n^*(g; x) - g(x) + g(x) - f(x)| \\ &\leq |J_n^*(f; x) - J_n^*(g; x)| + |J_n^*(g; x) - g(x)| + |f(x) - g(x)|. \end{aligned}$$

By considering the supremum over $[0, b]$ on both sides of the preceding inequality, it follows that

$$\|J_n^*(f; x) - f(x)\|_{C[0, b]} \leq 2 \|f(x) - g(x)\|_{C[0, b]} + \|J_n^*(g; x) - g(x)\|_{C[0, b]}.$$

Here, we apply inequality (27),

$$\begin{aligned} \|J_n^*(f; x) - f(x)\|_{C[0, b]} &\leq 2 \left\{ \|f(x) - g(x)\|_{C[0, b]} + \left[\frac{1}{2(n + \mu)} \left(\mu b + \zeta + \frac{\beta e}{\beta e + A_j(\lambda, \alpha)} \right) \right. \right. \\ &\quad \left. \left. + \frac{1}{4(n + \mu)^2} \left[\mu^2 b^2 + \left(\frac{na}{a - 1} - 2\zeta\mu - \frac{2\beta\mu e}{\beta e + A_j(\lambda, \alpha)} \right) b + \frac{2(\zeta + 1)\beta e}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 \right] \right\} \|g(x)\|_{C^2[0, b]} \right\}. \end{aligned}$$

Applying the infimum over $g \in C^2[0, b]$ to both sides of the above inequality, we then choose

$$\begin{aligned} \chi_n^*(\alpha, \beta, \lambda; b) &= \frac{1}{4(n + \mu)^2} \left[\mu^2 b^2 + \left(\frac{na}{a - 1} - 2\zeta\mu - \frac{2\beta\mu e}{\beta e + A_j(\lambda, \alpha)} \right) b + \frac{2(\zeta + 1)\beta e}{\beta e + A_j(\lambda, \alpha)} + \zeta^2 \right] \\ &\quad + \frac{1}{2(n + \mu)} \left(\mu b + \zeta + \frac{\beta e}{\beta e + A_j(\lambda, \alpha)} \right), \end{aligned}$$

this yields the desired conclusion. $\square$

Theorem 3.8. Let $f \in C[0, \infty)$, then for $x \geq 0$

$$|J_n^{**}(f; x) - f(x)| \leq 2K(f; \chi_n^\diamond(\alpha, \beta, \lambda; b))$$

where

$$\chi_n^\diamond(\alpha, \beta, \lambda; b) = \frac{3n + 2}{12n^2} + \frac{a}{a - 1} \frac{b}{2n} + \frac{(n + 3)\beta e}{2n^2(\beta e + A_j(\lambda, \alpha))}.$$

Proof. Let $g \in C^2[0, \infty)$. Using the Taylor expansion at x , we have

$$g(t) = g(x) + (t - x)g'(x) + (t - x)^2 \frac{g''(x)}{2}.$$

Operating with J_n^{**} on both sides of the above equation, we have

$$J_n^{**}(g; x) = g(x) + g'(x)J_n^{**}(t - x; x) + \frac{g''(x)}{2}J_n^{**}((t - x)^2; x).$$

From the triangle inequality, we obtain

$$|J_n^{**}(g; x) - g(x)| \leq |g'(x)| |J_n^{**}(t - x; x)| + \frac{|g''(x)|}{2} |J_n^{**}((t - x)^2; x)|.$$

Taking the maximum on $[0, b]$ and employing the first and second moments of J_n^{**} , one finds that

$$\begin{aligned} \|J_n^{**}(g; x) - g(x)\|_{C[0, b]} &\leq \left(\frac{\beta e}{n(\beta e + A_j(\lambda, \alpha))} + \frac{1}{2n} \right) \|g'(x)\|_{C[0, b]} \\ &\quad + \left(\frac{a}{a-1} \frac{b}{n} + \frac{3\beta e}{n^2(\beta e + A_j(\lambda, \alpha))} + \frac{1}{3n^2} \right) \|g''(x)\|_{C[0, b]}. \end{aligned}$$

Using the property of $C^2[0, b]$, we get

$$\|J_n^{**}(g; x) - g(x)\|_{C[0, b]} \leq \left[\frac{3n+2}{6n^2} + \frac{a}{a-1} \frac{b}{n} + \frac{(n+3)\beta e}{n^2(\beta e + A_j(\lambda, \alpha))} \right] \|g(x)\|_{C^2[0, b]}. \quad (28)$$

Using the linearity and positivity of the operator J_n^{**} , we obtain

$$\begin{aligned} |J_n^{**}(f; x) - f(x)| &= |J_n^{**}(f; x) - J_n^{**}(g; x) + J_n^{**}(g; x) - g(x) + g(x) - f(x)| \\ &\leq |J_n^{**}(f; x) - J_n^{**}(g; x)| + |J_n^{**}(g; x) - g(x)| + |f(x) - g(x)|. \end{aligned}$$

Maximizing both sides of the above inequality over $[0, b]$ yields

$$\|J_n^{**}(f; x) - f(x)\|_{C[0, b]} \leq 2 \|f(x) - g(x)\|_{C[0, b]} + \|J_n^{**}(g; x) - g(x)\|_{C[0, b]}.$$

In this step, we make use of inequality (28),

$$\|J_n^{**}(f; x) - f(x)\|_{C[0, b]} \leq 2 \left\{ \|f(x) - g(x)\|_{C[0, b]} + \frac{3n+2}{12n^2} + \frac{a}{a-1} \frac{b}{2n} + \frac{(n+3)\beta e}{2n^2(\beta e + A_j(\lambda, \alpha))} \right\} \|g(x)\|_{C^2[0, b]}.$$

By considering the infimum over $g \in C^2[0, b]$ on both sides of the preceding inequality, we select

$$\chi_n^\diamond(\alpha, \beta, \lambda, ; b) = \frac{3n+2}{12n^2} + \frac{a}{a-1} \frac{b}{2n} + \frac{(n+3)\beta e}{2n^2(\beta e + A_j(\lambda, \alpha))}.$$

Hence, the result is established. $\square$

Theorem 3.9. Let $f \in C[0, \infty)$, then for $x \geq 0$

$$|J_n^{***}(f; x) - f(x)| \leq 2K(f; \chi_n^\bullet(\alpha, \beta, \lambda; b))$$

where

$$\begin{aligned} \chi_n^\bullet(\alpha, \beta, \lambda, ; b) &= \frac{\mu^2}{2(n+\mu)^2} b^2 + \left(\frac{a}{a-1} \frac{n}{(n+\mu)^2} - \frac{\mu(2\zeta+1-n-\mu)}{(n+\mu)^2} - \frac{2\beta e\mu}{(n+\mu)^2(\beta e + A_j(\lambda, \alpha))} \right) \frac{b}{2} \\ &\quad + \frac{(2\zeta+n+\mu+3)\beta e}{2(n+\mu)^2(\beta e + A_j(\lambda, \alpha))} + \frac{\zeta^2 + \zeta + \frac{1}{3}}{2(n+\mu)^2} + \frac{2\zeta+1}{4(n+\mu)}. \end{aligned}$$

Proof. Let $g \in C^2[0, \infty)$. Applying the Taylor expansion at the point x , we obtain

$$g(t) = g(x) + (t-x)g'(x) + (t-x)^2 \frac{g''(x)}{2}.$$

Applying J_n^{***} to both sides of the above equation yields

$$J_n^{***}(g; x) = g(x) + g'(x) J_n^{***}(t - x; x) + \frac{g''(x)}{2} J_n^{***}((t - x)^2; x).$$

From the triangle inequality,

$$|J_n^{***}(g; x) - g(x)| \leq |g'(x)| |J_n^{***}(t - x; x)| + \frac{|g''(x)|}{2} |J_n^{***}((t - x)^2; x)|.$$

Considering the maximum over $[0, b]$ on both sides of the preceding inequality and applying the first and second moments of J_n^{***} , it follows that

$$\begin{aligned} \|J_n^{***}(g; x) - g(x)\|_{C[0, b]} &\leq \left(\frac{\mu b}{n + \mu} + \frac{\beta e}{(n + \mu)(\beta e + A_j(\lambda, \alpha))} + \frac{\zeta}{n + \mu} + \frac{1}{2(n + \mu)} \right) \|g'(x)\|_{C[0, b]} \\ &\quad + \left[\frac{\mu^2}{(n + \mu)^2} b^2 + \left(\frac{a}{a - 1} \frac{n}{(n + \mu)^2} - \frac{(2\zeta + 1)\mu}{(n + \mu)^2} - \frac{2\beta e \mu}{(n + \mu)^2 (\beta e + A_j(\lambda, \alpha))} \right) b \right. \\ &\quad \left. + \frac{(2\zeta + 3)\beta e}{(n + \mu)^2 (\beta e + A_j(\lambda, \alpha))} + \frac{\zeta^2 + \zeta + \frac{1}{3}}{(n + \mu)^2} \right] \|g''(x)\|_{C[0, b]}. \end{aligned}$$

Using the property of $C^2[0, b]$, we get

$$\begin{aligned} \|J_n^{***}(g; x) - g(x)\|_{C[0, b]} &\leq \left[\frac{\mu b}{n + \mu} + \frac{\beta e}{(n + \mu)(\beta e + A_j(\lambda, \alpha))} + \frac{\zeta}{n + \mu} + \frac{1}{2(n + \mu)} + \frac{\mu^2}{(n + \mu)^2} b^2 \right. \\ &\quad \left. + \left(\frac{a}{a - 1} \frac{n}{(n + \mu)^2} - \frac{(2\zeta + 1)\mu}{(n + \mu)^2} - \frac{2\beta e \mu}{(n + \mu)^2 (\beta e + A_j(\lambda, \alpha))} \right) b \right. \\ &\quad \left. + \frac{(2\zeta + 3)\beta e}{(n + \mu)^2 (\beta e + A_j(\lambda, \alpha))} + \frac{\zeta^2 + \zeta + \frac{1}{3}}{(n + \mu)^2} \right] \|g(x)\|_{C^2[0, b]}. \end{aligned} \quad (29)$$

Using the linearity and positivity of the operator J_n^{***} , we obtain

$$\begin{aligned} |J_n^{***}(f; x) - f(x)| &= |J_n^{***}(f; x) - J_n^{***}(g; x) + J_n^{***}(g; x) - g(x) + g(x) - f(x)| \\ &\leq |J_n^{***}(f; x) - J_n^{***}(g; x)| + |J_n^{***}(g; x) - g(x)| + |f(x) - g(x)|. \end{aligned}$$

Taking the maximum of both sides of the inequality above on $[0, b]$ leads to

$$\|J_n^{***}(f; x) - f(x)\|_{C[0, b]} \leq 2 \|f(x) - g(x)\|_{C[0, b]} + \|J_n^{***}(g; x) - g(x)\|_{C[0, b]}.$$

Inequality (29) is employed here,

$$\begin{aligned} \|J_n^{***}(f; x) - f(x)\|_{C[0, b]} &\leq 2 \left\{ \|f(x) - g(x)\|_{C[0, b]} \right. \\ &\quad \left. + \frac{\mu b}{2(n + \mu)} + \frac{\beta e}{2(n + \mu)(\beta e + A_j(\lambda, \alpha))} + \frac{\zeta}{2(n + \mu)} + \frac{1}{4(n + \mu)} \right. \\ &\quad \left. + \left[\frac{\mu^2}{2(n + \mu)^2} b^2 + \left(\frac{a}{a - 1} \frac{n}{(n + \mu)^2} - \frac{(2\zeta + 1)\mu}{(n + \mu)^2} - \frac{2\beta e \mu}{(n + \mu)^2 (\beta e + A_j(\lambda, \alpha))} \right) b \right] \right\} \frac{b}{2} \end{aligned}$$

$$\left. + \frac{(2\zeta + 3)\beta e}{2(n + \mu)^2(\beta e + A_j(\lambda, \alpha))} + \frac{\zeta^2 + \zeta + \frac{1}{3}}{2(n + \mu)^2} \right\} \|g(x)\|_{C^2[0,b]}.$$

Taking the infimum over $g \in C^2[0, b]$ on both sides of the above inequality, we choose

$$\begin{aligned} \chi_n^\diamond(\alpha, \beta, \lambda, ; b) &= \frac{\mu^2}{2(n + \mu)^2} b^2 + \left(\frac{a}{a-1} \frac{n}{(n + \mu)^2} - \frac{\mu(2\zeta + 1 - n - \mu)}{(n + \mu)^2} - \frac{2\beta e \mu}{(n + \mu)^2(\beta e + A_j(\lambda, \alpha))} \right) \frac{b}{2} \\ &\quad + \frac{(2\zeta + n + \mu + 3)\beta e}{2(n + \mu)^2(\beta e + A_j(\lambda, \alpha))} + \frac{\zeta^2 + \zeta + \frac{1}{3}}{2(n + \mu)^2} + \frac{2\zeta + 1}{4(n + \mu)}. \end{aligned}$$

Consequently, the desired result follows. $\square$

Theorem 3.10. Let f, f' and $f'' \in C[0, \infty)$. It can be shown that the following limit is valid:

$$\lim_{n \rightarrow \infty} n [J_n^*(f; x) - f(x)] = \left(-\mu x + \zeta + \frac{\beta e}{\beta e + A_j(\lambda, \alpha)} \right) f'(x) + \frac{a}{a-1} \frac{x f''(x)}{2}.$$

Proof. Expanding the function in a Taylor series at the point x , we obtain

$$f(t) = f(x) + (t - x) f'(x) + (t - x)^2 \frac{f''(x)}{2} + \psi(t, x) (t - x)^2$$

where

$$\psi(t, x) = \frac{f''(v) - f''(x)}{2}$$

here, v is between x and t , and $\lim_{t \rightarrow x} \psi(t, x) = 0$. Using the operator J_n^* on both sides of the above equation yields

$$n [J_n^*(f; x) - f(x)] = n f'(x) J_n^*(t - x; x) + n \frac{f''(x)}{2} J_n^*((t - x)^2; x) + n J_n^*(\psi(t, x) (t - x)^2; x).$$

Taking limit when $n \rightarrow \infty$ leads to

$$\lim_{n \rightarrow \infty} n [J_n^*(f; x) - f(x)] = f'(x) \lim_{n \rightarrow \infty} n J_n^*(t - x; x) + \frac{f''(x)}{2} \lim_{n \rightarrow \infty} n J_n^*((t - x)^2; x) + \lim_{n \rightarrow \infty} n J_n^*(\psi(t, x) (t - x)^2; x).$$

Since the moments are known, it follows that

$$\begin{aligned} \lim_{n \rightarrow \infty} n J_n^*(t - x; x) &= \lim_{n \rightarrow \infty} \left(\frac{-\mu n}{n + \mu} x + \frac{\zeta n}{n + \mu} + \frac{\beta e n}{(n + \mu)(\beta e + A_j(\lambda, \alpha))} \right) \\ &= -\mu x + \zeta + \frac{\beta e}{\beta e + A_j(\lambda, \alpha)}, \\ \lim_{n \rightarrow \infty} n J_n^*((t - x)^2; x) &= \lim_{n \rightarrow \infty} \left[\frac{n \mu^2}{(n + \mu)^2} x^2 + \left(\frac{n^2 a}{(n + \mu)^2 (a - 1)} - \frac{2\zeta \mu n}{(n + \mu)^2} - \frac{2\beta e \mu n}{(n + \mu)^2 (\beta e + A_j(\lambda, \alpha))} \right) x \right. \\ &\quad \left. + \frac{\zeta^2 n}{(n + \mu)^2} + \frac{2\beta e (\zeta + 1) n}{(n + \mu)^2 (\beta e + A_j(\lambda, \alpha))} \right] \\ &= \frac{a}{a-1} x. \end{aligned}$$

Applying the above limits, we reach that

$$\lim_{n \rightarrow \infty} n [J_n^*(f; x) - f(x)] = \left(-\mu x + \zeta + \frac{\beta e}{\beta e + A_j(\lambda, \alpha)} \right) f'(x) + \frac{a}{a-1} \frac{x f''(x)}{2} + \lim_{n \rightarrow \infty} n J_n^*(\psi(t, x)(t-x)^2; x).$$

It can be shown that the limit on the right-hand side of the above equation is zero. This follows readily from the Cauchy–Schwarz inequality:

$$n J_n^*(\psi(t, x)(t-x)^2; x) \leq \sqrt{J_n^*(\psi^2(t, x); x)} \sqrt{n^2 J_n^*(t-x)^4; x}.$$

Using the Korovkin theorem [14], it follows that

$$\lim_{n \rightarrow \infty} J_n^*(\psi^2(t, x); x) = \psi^2(x, x) = 0,$$

noting that $\psi^2(x, x) = 0$, $\psi(t, x) \in C[0, \infty)$, $\psi(t, x)$ is bounded as $t \rightarrow \infty$ and taking into account that

$$J_n^*(t-x)^4; x) = O\left(\frac{1}{n^2}\right),$$

we conclude that the proof is complete. $\square$

Theorem 3.11. Let f, f' and $f'' \in C[0, \infty)$. The below limit is satisfied:

$$\lim_{n \rightarrow \infty} n [J_n^{**}(f; x) - f(x)] = \left(\frac{\beta e}{\beta e + A_j(\lambda, \alpha)} + \frac{1}{2} \right) f'(x) + \frac{a}{a-1} \frac{x f''(x)}{2}.$$

Proof. Using the Taylor expansion at x , we have

$$f(t) = f(x) + (t-x)f'(x) + (t-x)^2 \frac{f''(x)}{2} + \psi(t, x)(t-x)^2$$

where

$$\psi(t, x) = \frac{f''(v) - f''(x)}{2}$$

with v between x and t , and $\lim_{t \rightarrow x} \psi(t, x) = 0$, applying J_n^{**} to both sides gives

$$n [J_n^{**}(f; x) - f(x)] = n f'(x) J_n^{**}(t-x; x) + n \frac{f''(x)}{2} J_n^{**}((t-x)^2; x) + n J_n^{**}(\psi(t, x)(t-x)^2; x).$$

Taking limit when $n \rightarrow \infty$ leads to

$$\lim_{n \rightarrow \infty} n [J_n^{**}(f; x) - f(x)] = f'(x) \lim_{n \rightarrow \infty} n J_n^{**}(t-x; x) + \frac{f''(x)}{2} \lim_{n \rightarrow \infty} n J_n^{**}((t-x)^2; x) + \lim_{n \rightarrow \infty} n J_n^{**}(\psi(t, x)(t-x)^2; x).$$

Using the known values of the moments, we obtain

$$\begin{aligned} \lim_{n \rightarrow \infty} n J_n^{**}(t-x; x) &= \frac{\beta e}{\beta e + A_j(\lambda, \alpha)} + \frac{1}{2}, \\ \lim_{n \rightarrow \infty} n J_n^{**}((t-x)^2; x) &= \lim_{n \rightarrow \infty} \left(\frac{a}{a-1} x + \frac{3\beta e}{n(\beta e + A_j(\lambda, \alpha))} + \frac{1}{3n} \right) \\ &= \frac{a}{a-1} x. \end{aligned}$$

From the above limits, we get

$$\lim_{n \rightarrow \infty} n [J_n^{**}(f; x) - f(x)] = \left(\frac{\beta e}{\beta e + A_j(\lambda, \alpha)} + \frac{1}{2} \right) f'(x) + \frac{a}{a-1} \frac{x f''(x)}{2} + \lim_{n \rightarrow \infty} n J_n^{**}(\psi(t, x)(t-x)^2; x).$$

The limit on the right-hand side of the preceding equation can be shown to vanish. Indeed, this is a direct consequence of the Cauchy–Schwarz inequality:

$$n J_n^{**}(\psi(t, x)(t-x)^2; x) \leq \sqrt{J_n^{**}(\psi^2(t, x); x)} \sqrt{n^2 J_n^{**}(t-x)^4; x}.$$

Applying the Korovkin theorem [14], we have

$$\lim_{n \rightarrow \infty} J_n^{**}(\psi^2(t, x); x) = \psi^2(x, x) = 0,$$

given that $\psi^2(x, x) = 0$, $\psi(t, x) \in C[0, \infty)$ is bounded as $t \rightarrow \infty$ and

$$J_n^{**}(t-x)^4; x) = O\left(\frac{1}{n^2}\right),$$

the proof is complete. $\square$

Theorem 3.12. Let f, f' and $f'' \in C[0, \infty)$. We have the following limit:

$$\lim_{n \rightarrow \infty} n [J_n^{***}(f; x) - f(x)] = \left(-\mu x + \zeta + \frac{1}{2} + \frac{\beta e}{\beta e + A_j(\lambda, \alpha)} \right) f'(x) + \frac{a}{a-1} \frac{x f''(x)}{2}.$$

Proof. Applying the Taylor expansion at the point x , we get

$$f(t) = f(x) + (t-x)f'(x) + (t-x)^2 \frac{f''(x)}{2} + \psi(t, x)(t-x)^2$$

where

$$\psi(t, x) = \frac{f''(v) - f''(x)}{2}$$

where v lies between x and t , with $\lim_{t \rightarrow x} \psi(t, x) = 0$. By applying the operator J_n^{***} to both sides of the preceding equation, we obtain

$$n [J_n^{***}(f; x) - f(x)] = n f'(x) J_n^{***}(t-x; x) + n \frac{f''(x)}{2} J_n^{***}((t-x)^2; x) + n J_n^{***}(\psi(t, x)(t-x)^2; x).$$

Taking limit when $n \rightarrow \infty$ leads to

$$\lim_{n \rightarrow \infty} n [J_n^{***}(f; x) - f(x)] = f'(x) \lim_{n \rightarrow \infty} n J_n^{***}(t-x; x) + \frac{f''(x)}{2} \lim_{n \rightarrow \infty} n J_n^{***}((t-x)^2; x) + \lim_{n \rightarrow \infty} n J_n^{***}(\psi(t, x)(t-x)^2; x).$$

By employing the known moment values, we reach that

$$\begin{aligned} \lim_{n \rightarrow \infty} n J_n^{***}(t-x; x) &= \lim_{n \rightarrow \infty} n \left(-\frac{\mu}{n+\mu} x + \frac{\beta e}{(n+\mu)(\beta e + A_j(\lambda, \alpha))} + \frac{2\zeta+1}{2(n+\mu)} \right) \\ &= -\mu x + \zeta + \frac{1}{2} + \frac{\beta e}{\beta e + A_j(\lambda, \alpha)}, \\ \lim_{n \rightarrow \infty} n J_n^{***}((t-x)^2; x) &= \lim_{n \rightarrow \infty} n \left[\frac{\mu^2}{(n+\mu)^2} x^2 + \left(\frac{na}{(n+\mu)^2(a-1)} - \frac{2\beta e\mu}{(n+\mu)^2(\beta e + A_j(\lambda, \alpha))} - \frac{(2\zeta+1)\mu}{(n+\mu)^2} \right) x \right] \end{aligned}$$

$$+ \frac{(2\zeta + 3)\beta e}{(n + \mu)^2 (\beta e + A_j(\lambda, \alpha))} + \frac{\zeta^2 + \zeta + \frac{1}{3}}{(n + \mu)^2} \Bigg] \\ = \frac{a}{a-1} x.$$

Using the limits derived above, it follows that

$$\lim_{n \rightarrow \infty} n [J_n^{***}(f; x) - f(x)] = \left(-\mu x + \zeta + \frac{1}{2} + \frac{\beta e}{\beta e + A_j(\lambda, \alpha)} \right) f'(x) + \frac{a}{a-1} \frac{x f''(x)}{2} + \lim_{n \rightarrow \infty} n J_n^{***}(\psi(t, x)(t-x)^2; x).$$

It is straightforward to verify that the limit on the right-hand side of the above equation is zero, using the Cauchy–Schwarz inequality then we have

$$n J_n^{***}(\psi(t, x)(t-x)^2; x) \leq \sqrt{J_n^{***}(\psi^2(t, x); x)} \sqrt{n^2 J_n^{***}(t-x)^4; x}.$$

By virtue of the Korovkin theorem [14], the following result is established:

$$\lim_{n \rightarrow \infty} J_n^{***}(\psi^2(t, x); x) = \psi^2(x, x) = 0,$$

since $\psi^2(x, x) = 0$, $\psi(t, x) \in C[0, \infty)$, and $\psi(t, x)$ remains bounded as $t \rightarrow \infty$ together with the fact that

$$J_n^{***}((t-x)^4; x) = O\left(\frac{1}{n^2}\right),$$

the proof is therefore finished. $\square$

4. Conclusion

In this study, we introduced a generalized class of Szász-type operators constructed through U-Charlier-Poisson polynomials and sequences satisfying prescribed conditions. Within this framework, we established a range of approximation properties, thereby extending and enriching the theory of positive linear operators. Furthermore, we demonstrated that the same methodology allows for the development of generalized forms of well-known operators, including the Kantorovich, Stancu and Stancu-Kantorovich variants. These results not only unify diverse operator families under a common setting but also provide new tools for advancing approximation theory. Future research may focus on investigating quantitative estimates, rates of convergence, and potential applications of these generalized operators in numerical analysis and applied mathematics.

References

- [1] F. Altomare, M. Campiti, *Korovkin-type approximation theory and its applications*, Walter de Gruyter, Berlin, Germany, 1994.
- [2] S. Bernstein, *Démonstration du théorème de Weierstrass*, Comm. Soc. Math. Kharkow, **13** (1912), 1–2.
- [3] G. Bleimann, P.L. Butzer, L. Hahn, *A Bernstein-type operator approximating continuous functions on the semi-axis*, Nederl. Akad. Wetensch. Indag. Math., **42**, (3) (1980), 255–262.
- [4] Q. Cai, Ş.Y. Güngör, B. Çekim, *A new kind of Durrmeyer-Stancu-type operators*, Demonstr. Math., **58**, (1) (2025), 1–13.
- [5] T.S. Chihara, *An introduction to orthogonal polynomials*, Gordon and Breach, New York, 1978.
- [6] C. Clemente, A. Urieles, J. Villa, M. J. Ortega, *New parametric polynomials of U-Charlier-Poisson type: Properties and Szász-type operators including these polynomials*, Contemp. Math., **6**, (4) (2025), 5293–5316.
- [7] B. Çekim, Ü. Dinlemez Kantar, İ. Yüksel, *Dunkl generalization of Szász beta-type operators*, Math. Meth. Appl. Sci., **40**, (18) (2017), 7697–7704.
- [8] J.L. Durrmeyer, *Une formule d'inversion de la transformée de Laplace: applications à la théorie des moments*, Thèse de 3e cycle, Faculté des Sciences de Paris, 1967.
- [9] Ş.Y. Güngör, B. Çekim, M.A. Özarslan, *Approximation results for the operators involving beta function and the Boas-Buck-Sheffer polynomials*, Filomat, **38**, (1) (2024), 171–187.
- [10] G. İçöz, B. Çekim, *Stancu-Type Generalizations of the Chan-Chyan-Srivastava Operators*, Filomat, **30**, (14) (2016), 3733–3742.

- [11] A. Jakimovski, D. Laviatan, *Generalized Szász operators for the approximation in the infinite interval*, *Mathematica (Cluj)*, **11** (1969), 97–103.
- [12] A. Kajla, *The Kantorovich variant of an operator defined by D.D. Stancu*, *Appl. Math. Comput.*, **316** (2018), 400–408.
- [13] L.V. Kantorovich, *Sur certains développements suivant les polynômes de la forme de S. Bernstein*, *C. R. Acad. Sci. URSS*, **26** (1930), 563–568.
- [14] P.P. Korovkin, *Linear Operators and Approximation Theory*, Hindustan Publ. Corp., Delhi, 1960.
- [15] F. Özger, R. Aslan, M. Ersoy, *Some approximation results on a class of Szász-Mirakjan Kantorovich operators including non-negative parameter α* , *Numer. Funct. Anal. Optim.*, **46** (6) (2025), 461–484.
- [16] N. Özmen, E. Erkuş-Duman, *On the Poisson-Charlier polynomials*, *Serdica Math. J.*, **41** (2015), 458–470.
- [17] D.D. Stancu, *Approximation of functions by a new class of linear positive operators*, *Rev. Roum. Math. Pures Appl.*, **13** (1968), 1173–1194.
- [18] S. Sucu, S. Varma, *Approximation by Sequence of Operators Involving Analytic Functions*, *Mathematics*, **7**, (2) (2019), 188–198.
- [19] O. Szász, *Generalization of S. Bernstein's polynomials to the infinite interval*, *J. Research Nat. Bur. Standards*, **45** (1950), 239–245.
- [20] S. Varma, F. Taşdelen, *Szász type operators involving Charlier polynomials*, *Math. Comput. Model.*, **56** (2012), 118–122.
- [21] S. Varma, S. Sucu, G. İçöz, *Generalization of Szász operators involving Brenke type polynomials*, *Comput. Math. Appl.*, **64** (2012), 121–127.
- [22] S. Varma, S. Sucu, *Operators Obtained by Using Certain Generating Function for Approximation*, *Mathematics*, **10**, (13) (2022), 2239–2248.